PW
Sprung Core

Material : 1.8159

Hardness : 45+3 HRC

Sprung Core Series

It's made from spring steel release elasticity at bottom as
stardard ejector pins, and fulfill it's function by eject plate.

L+2
Ct15
oS 05 1E st
f{:"ﬁg = s T . —le?& p+0.05
“"I _Jfes —11169
T
T B T———-—- el
6 Ag AN
0 N farn.ses2HAC
PW.060622 6 6.2 22 9 35 4 125 Mdx 15
PW.060822 6 8.2 22 9 3.5 4 125 M4 x15
PW.0B0825 8 8.2 25 11.5 45 5 140 M5 x 20
PW.081030 8 10.2 30 11.5 45 5 140 M5 x 20
PW.081230 8 122 30 M5 45 5 140 M5x 20
PW.101430 10 14.2 30 136 55 5.8 175 M6 x 25
PW.101630 10 16.2 30 136 55 5.8 175 M6 x 25
PW.101830 10 18.2 30 13.6 55 5.8 175 M6 x 25

@ [Order:| [ Type Ne. |x

PW.060622 x 10

Example

bl- — - — ——=

L/

BRAHMADEVI ENGINEERING PRODUCTS
Regd. Office :19, Martand Chowk, INDORE - 452 007 (M.P.) INDIA

Ph.: +91-731 - 2720243, Fax : +91 - 731 - 2721554

E-mail : ishan1809@yahoo.com, ruchir@diespares.com Website : www.diespares.com



Sprung Core Series

PW
Sprung Core
ol - It's made fram spring steel,release elasticity at bottom, with guide
Material : 1.8159 bushing to preventthe damage from long time's friction belween it
17542

G155

o 0.5, lE ~ s

e : — —l"(tﬁ—ﬁ'?nﬂi 05
I 6"
}/ 5.3

0.3

Hara 58+ 2HRC

PW.060630 6 6.2 10 35 4 12 M4 x 15
PW.060830 6 85 10 3.5 4 12 M4 x 15
PW.080830 8 82 11.2 45 5 12 M5 x 20
PW.081030 8 10.2 1.2 45 5 12 M5 x 20
PW.081230 8 12.2 11.2 45 5 12 M5 x 20
PW.101430 10 14.2 13.6 5§ 58 16 M6 x 25
PW.101630 10 15.2 13.6 5.5 5.8 16 M6 x 25
PW.101830 10 18.2 13.6 5.5 5.8 16 M6 x 25

[Order:] [ TypeNo. | x

PW.060630 x 10

Ecample

BRAHMADEVI ENGINEERING PRODUCTS

Regd. Office :19, Martand Chowk, INDORE - 452 007 (M.P.) INDIA

Ph. : +91 - 731 - 2720243, Fax : +91 - 731 - 2721554

E-mail : ishan1809@yahoo.com, ruchir@diespares.com Website : www.diespares.com



